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import ("glib3.rr");

def lorentz2() {
glib_window(-25,-25,25,25);
glib_clear();
glib_1ine(0,0,25,0 | color=0x0000£ff);
glib_1ine(0,0,0,25 | color=0x0000£ff);
glib_set_pixel_size(4.0);
A=10; B=20; C=2.66;
P1=0; P2 = 3; P3 =0; /+ OOOOOOO =/
Dt = 0.004; T = 0;
glib_flush(); glib_flush(); /* two dummy */
while (T <50) {
glib_remove_last(); glib_remove_last();
Q1=P1+Dt* (-A*P1+A*P2) ;
Q2=P2+Dt* (-P1*xP3+B*P1-P2) ;
Q3=P3+Dt* (P1*P2-C*P3) ;
glib_putpixel(Q1,Q2 | color=0xff0000); glib_flush();
T=T+Dt;
P1=Q1; P2=Q2; P3=Q3;

lorentz2();
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